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  TESTPermutation 1
1. 

 How many different ways can 1 pencil or 1 ballpoint pen 

be selected from 10 different pencils and 3 different 

ballpoint pens?

A) 30 B) 20 C) 13 D) 11 E) 2

6.  n  = 
n!

(n + 2)!

 ´ 10  : 9  =

A) 5\â B) 4\ß C)  D) 5\à E) 6\á

8.  A = P(6, 2)

  B = P(5, 3)

  C = P(3, 2)

 ´ 
A + B

C
 =

A) 10 B) 15 C) 16 D) 18 E) 25

2. 

 How many different ways can 1 pen and 1 notebook be 

selected among 6 different notebooks with 4 different 

pens?

A) 24 B) 20 C) 12 D) 10 E) 2

4. 

 How many different ways can 4 different books be lined 

up side by side?

A) 4 B) 3! C) 4! D) 5! E) 6!

5.  A = {Z, A, F, E, R}

 

 How many different 3-letter meaningful or meaningless 

ways can be written with the letters of the set?

A) 20 B) 25 C) 30 D) 45 E) 60

7. 

 How many different three-digit natural numbers with 9, 

8, 7, 6 numbers and different numbers can be written?

A) 48 B) 24 C) 12 D) 8 E) 6

 

 How many different ways can you go from Istanbul to 

A) 7 B) 10 C) 11 D) 12 E) 14

İ



     Summation and Product Notation

9. 
4

m = 2

(m – 1)  .  
4

m = 2

(m2 + m + 1) = ?

A) 94 B) 96 C) 100 D) 236 E) 246

10.  
1

n . (n + 1)
 = 1\N – 

1

n + 1

  
10

k = 1

1
 = ?

A) È/ñ B) 10! C)  D) È/ï E) 

13. x Î N,

  
5

n = 1
 (xn + 2) < 48

 ´ S.S. = ?

A) {0, 1} B) {1, 2} C) {1, 2, 3}

 D) {0, 1, 2} E) Æ 

11. 
3

k = 1
36k = ?

A) 3\á B) 5\ß C) 2 D)  E) 1

14.  1 + r + r2 + r3 + . . . + rn – 1 = 
rn – 1

r – 1

 ´ 
49

k = 0

2k = ?

A) 249 – 1 B) 250 – 1 C) 249

 D) 250 E) 2100 – 2 

12.  A = 
80

k = 1
 k!

 
 What is the number in units digit of A?

A) 1 B) 2 C) 3 D) 4 E) 5

15. 

 
 What is the sum of all the numbers in the boxes?

A) 
10 . 11

2
 B) 

10 . 11 . 24

3
 C) 

10 . 11 . 21

6

 D) 
20 . 21 . 41

6
 E) 

8 . 9 . 17

6
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  TESTTrigonometri / Trigonometry 17
1.  a = sin2(arc tan( )) + cos2(arc tan( ))

  b = tan(arc sin(2\ß)) . cot(arc sin(2\ß))

 ´ a + b = ?

A) 0 B) 1 C) 2 D) 3 E) 9\à

2. 

  |AL| = |LB|,     |HK| = |KG|

 ´ a = ?

A)  B)  C) 
ò10
10

 D) 
ñ5
10

 E) 
ò10

5
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3. 

  O merkez (O center)

  [AB] ^ [BC],   |DC| = 4|AD|,    m(BéAD) = à

 ´ a = ?

A)  B) 1 C) 2 D)  E) 2\ß
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5. 
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O merkez 

 (O center)

 |OC| = |OA| = 60 m

 m(CéOA) = 2à

 à

 ant at point A linearly on B went to C in p minutes per 

3 meters (3m) . 

 According to the information above, what is equivalent 

of p in type of a?

A) 20 sinà B) 20 sin2à C) tan2à

 D) 40sin2à E) 40 sinà 

6.  A = Â1 + 9sin4x + Î49 + 25cos4x

  B = Ã16 + 4sin4x

 ´ min(A + B) = ?

A) – 4 B) – 1 C) 13 D) 16 E) 25

7. 8 . [sin4 o/ò + 4 o/ò] = ?

A) 5 B) 6 C) 7 D) 8 E) 9

4.  13x = „/è

 ´  = ?

A)  B) 1 C)  D) –  E) – 1
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  TESTTrigonometri / Trigonometry 8
1. 

  
m(ëA)

2
 = 

m(ëB)
3

 = 
m(ëC)

7

 ´   a\B = ?

A)  B)  C)  D)  E) 1

�
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4. 

 ABCD yamuk (trapezoid)

 |DC| = 4,   |AD| = 3,   |AB| = 8

 m(DéAB) = 30°

 ´   
A(DÿAB)

A(AÿDC)
 = ?

A) 5 B) 4 C) 3 D) 2 E) 1

� �

� �

�

�

�

�

2. 

 ´   A(ABCD) = ?

A) 
sin3a
cosa

 B) 
sin2a
cosa

 C) 
cos3a
2sina

 D) 
cos2a
2sina

 E) 
sin3a
2cosa
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6.   < x < ã

  cotx = – 1\ß

 ´   – tanx = ?

A) 2,1 B) 2,3 C) 2,5 D) 2,7 E) 3,1

3.  tan20° = x

 ´    = ?

A) 
x

x – 1
 B) 

x – 1
x

 C) 
x

x + 1

 D) 
x + 1

x
 E) x 

5.  a = cos10°

  b = sin83°

  c = cot37°

  d = tan15°

 
 Which of the following sequencing is correct?

A) c > b > a > d  B) c > d > b > a

C) c > a > b > d  D) c > b > d > a

                         E) a > b > c > d
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9.  
(x3 – 1) . (x4 – 1)

x2 – 4x + 3
 ³ 0

 ´   S. S. =

A) (2, ¥)  B) (– 1, 1) C) [– 1, 1) È (3, ¥)

 D) [– 1, 3) E) (– ¥, 1)  

11.  1 + 1\X + 
1
x2  + 

1
x3  £ 0

 ´   S.S. =

A) (– 3, – 1] B) [– 1, 5) C) (– 1, 1)

 D) [– 1, 0) E) Æ 

12. a ¹ 5

  (a – 5)2 + b3 . (b – 1) = 0

 

 Which of the following is absolutely true?

A) b < 0 B) – 1 < b < 0 C) 0 < b < 1

 D) 1 < b < 5 E) – 5 < b < 0 

13.  2x2 – 2x + 1 = 

  S. S. =

A) (0, 2) B) (– ¥, ¥) C) (2, ¥)

 D) (0, 2) \ {1} E) (– 1, 1) 

14. 

 Î
 Which one of the following can be (x, y)?

A) (0, 3) B) (2, – 1) C) (– 1, 1)

 D) (0, – 4) E) (1, 3) 
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x Î N

  ~3 – |x – 5| < 1

 ´   Õ =

A) 16 B) 10 C) 8 D) 6 E) 2

8.  x . (x + 1) < 2 . (x + 1)

 ´   S. S. =

A) (– ¥, 2) B) (– 1, 2) C) (2, ¥)

 D) (– 1, 1) E) (– 2, 2) 
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TESTPolinom / Polynomial 8
1.  P(2x + 1) – P(x + 2) = ax2 – x – 3

 ´   P(11) – P(7) =

A) 92 B) 93 C) 94 D) 95 E) 96

4.  P(x) = x3 + x + 2P(1)

 ´   P(3) =

A) 8 B) 16 C) 20 D) 26 E) 32

5.  P(x) = x2020 – x2019

  P(2) º m  (mod 5)

 ´ =

A) 0 B) 4 C) 3 D) 2 E) 1

6.  P(x) = x2 – 4x + m + 2

  P( x1 ) = P( x2 ) = 0

  x1 = x2

 ´ =

A) 0 B) 1 C) 2 D) 3 E) 4

7.  (3x – 2)3 = ax3 + bx2 + cx + d

 ´ + + =

A) 8 B) 9 C) 10 D) 11 E) 12

2.  P(x) = (a – 2)x3 + 5x2 + bx + a + 1

  der [P(x)] = 2

 

 If P(x) is a polynomial, what is the constants term of P(x) 

polynomial?

A) 1 B) 2 C) 3 D) 4 E) 5

3. 

  

P(x) Q(x)

–
K

       

 ´   K =

A) 125 B) 25 C) 5 D) 1 E) 0
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TESTPolinom / Polynomial 4
1.  A, B Î R

  
6x – 10

x2 – 6x + 5
 = 

A
x – 5

 + 
B

x – 1

 ´   A =

A) 6 B) 5 C) 4 D) 2 E) 1

2.  P(x) + Q(x) = x5 – x4 – 2x + 5

  Q(– x) = – x5 – 2x4 – x + 3

 ´   P(x) =

A) x4 – 3x + 2       B) – x4 – 3x + 2

B) x4 + 3x – 2       D) – x4 + 3x + 1

                           E) – x4 + 3x + 2

4.  P(x) = Ax3 + Bx2 + Cx + D

  P(1) = P(3) = P(– 1) = 0

  P(0) = 3

 ´   P(2) =

A) 3 B) 2 C) – 2 D) – 3 E) – 1

6.  P(x) = (x + 2)4 + 3(x + 1)3

  P(x) = a4 . x4 + a3 . x3 + a2 . x2 + a1 . x + a0

 ´ 1 =

A) 41 B) 39 C) 37 D) 35 E) 33

7. a, b Î Z+

  P(x) = (x + a) . (x + b)

  P(1) = 15

 ´ + =

A) 6 B) 7 C) 8 D) 9 E) 10

5.  (3x – 1)4 = Ax4 + Bx3 + Cx2 + Dx + E

 ´   A + C + E =

A) 130 B) 134 C) 136 D) 140 E) 150

3.  1   ®  3

  2   ®  7

  3   ®  13

    ›

  x   ®  P(x)

 ´   P(x) + P( 2  ) =

A) x2 + x + 8       B) x2 – x – 8

B) x2 – x + 58       D) x2 + x + 11

                           E) x2 + x + 58


